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QUESTION 1

An architect is designing a certificate strategy for vRealize Operations (vROps) to satisfy the following requirements: 

Enhance security Avoid browser warnings The certificate must be applicable for all vROps servers 

Which three design decisions would fulfill the requirements? (Choose three.) 

A. Certificates will use the PEM format. 

B. Certificates will be created using the Diffie-Hellman security-key algorithm. 

C. Certificates will use the PFX and/or PKCS12 format. 

D. The solution will use CA-signed certificates. 

E. Certificates will use multiple Subject Alternative Name (SAN) entries. 

F. The solution will use self-signed certificates. 

Correct Answer: ADE 

 

QUESTION 2

An architect is responsible for designing a new Operations Management solution for a customer. The 

customer has provided the following information about their existing VMware Software Defined Data 

Center (SDDC) environment: 

The customer uses a SaaS-Based Service Desk solution. 

The existing environment is located across two geographical regions. 

In each region, the customer already has deployed a vSphere-based virtual environment that spans two 

well connected physical locations. 

The customer has recently upgraded all of their licenses to VMware vCloud Suite Advanced subscription. 

The customer has already successfully deployed and configured a vRealize Operations 8 solution in each 

region. 

The customer would like to ensure that: 

All vSphere log events must be captured, stored locally and forwarded to a third-party log management 

solution to ensure regulatory compliance. 

Specific vSphere log event\\'s can be captured within a region, monitored and then trigger alerts direct to the 

Service Desk which can then be assigned to regional support teams. 
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Operations monitoring for all of the VMware SDDC solution can be consolidated into a single user 

interface. 

Which three recommendations should the architect make to meet the requirements? (Choose three.) 

A. Configure vRealize Operations 8.x and vRealize Log Insight 8.x integration. 

B. Configure vRealize Operations 8.x and vRealize Log Insight Cloud integration. 

C. Deploy vRealize Operations Cloud and configure Federated Analytics. 

D. Deploy vRealize Log Insight 8.x and configure the vSphere integration. 

E. Deploy vRealize Log Insight Cloud and configure the vSphere integration. 

F. Deploy vRealize Operations Cloud and vRealize Log Insight 8.x integration. 

Correct Answer: BDE 

 

QUESTION 3

An architect is designing a Cloud Management solution for a customer to create a private cloud. The 

customer wants to enable self-service provisioning for their business users to their existing VMware virtual 

environment. After initial discovery workshops, the following information have been gathered: 

The customer, in the future, may need to start supporting the deployment of services to public cloud. 

The customer has existing vCloud Suite Advanced license entitlement covering all of their virtual 

environment. 

There is no budget for additional licensing at this time. 

What should the architect document as a risk in the design? 

A. The solution will not support the provisioning to public cloud without additional licensing. 

B. The solution cannot be upgraded to support the provisioning of public cloud services. 

C. The solution will not support provisioning to VMware Cloud on AWS without additional licensing. 

D. The solution will not support the monitoring of workloads on the private cloud. 

Correct Answer: D 

 

QUESTION 4

An architect has designed a vRealize Log Insight (vRLI) cluster for an organization. Details of the cluster are provided
below: 
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3-node vRealize Log Insight cluster to collect logs for an organization NFS storage is enabled for archival data Once the
NFS storage is full, which will be the resulting scenario? 

A. vRLI will stop ingesting new data and unless free space is available, loss of data will occur. 

B. vRLI will automatically delete the oldest archived logs, resulting in archived data loss. 

C. vRLI will further compress the active logs to make more space available in NFS storage. 

D. vRLI will send a notification and automatically disable log archiving. 

Correct Answer: A 

 

QUESTION 5

An architect is designing a new VMware vRealize Cloud Management solution. During the requirements 

gathering workshop, the customer made the following comments: 

The monthly uptime target of the cloud management solution must be 99.9%. 

All components of the cloud management solution must be deployed with a N + 1 redundancy. 

When creating the design documentation, how should these requirements be classified? 

A. Recoverability 

B. Manageability 

C. Availability 

D. Performance 

Correct Answer: C 
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